
***************************COMPLETE GRAPH-6**************************

Edges of COMPLETE GRAPH-6:

( 1, 3) ( 2, 5) ( 2, 6) ( 1, 6) ( 1, 5) ( 2, 4) ( 2, 3)

( 1, 2) ( 4, 5) ( 3, 6) ( 4, 6) ( 5, 6) ( 3, 5) ( 3, 4)

( 1, 4)

VERTICES = 6 EDGES = 15

The Tutte polynomial is represented below. The entry in position

(I,J) is the coefficient of x^J y^I. Entries in row I represent

coefficients of x^J y^I with values of J starting at zero.

T(G;x,y):

I = 0 24 50 35 10 1

I = 1 24 106 90 20

I = 2 80 145 45

I = 3 120 105 15

I = 4 120 60

I = 5 96 24

I = 6 64 6

I = 7 35

I = 8 15

I = 9 5

I = 10 1

1


